
SAP ABAP table T8PSA_COST_ADJ {PSA Cost Adjustment}

T8PSA_COST_ADJ

MANDT [CLNT (3)]

DOCNR [CHAR (10)]

DOCLN [NUMC (3)]

PSC_YEAR [NUMC (4)]

RBUKRS [CHAR (4)]

RPSC_NAME [CHAR (10)]

RPSC_PRODUCT [CHAR (10)]

RJVNAM [CHAR (6)]

RPSC_CALC_TYPE [NUMC (3)]

RPARTN [CHAR (10)]

SPSC_NAME [CHAR (10)]

SPSC_PRODUCT [CHAR (10)]

SJVNAM [CHAR (6)]

SPSC_CALC_TYPE [NUMC (3)]

SPARTN [CHAR (10)]

KNA1

MANDT [CLNT (3)]

KUNNR [CHAR (10)]

 T8PSA_COST_ADJ-RPARTN = KNA1-KUNNR 

0..N

0..N

 T8PSA_COST_ADJ-SPARTN = KNA1-KUNNR 0..N

0..N

T001

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

 T8PSA_COST_ADJ-RBUKRS = T001-BUKRS 
0..N

0..N

T8JV

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

VNAME [CHAR (6)]

 T8PSA_COST_ADJ-RJVNAM = T8JV-VNAME 

0..N
0..N  T8PSA_COST_ADJ-SJVNAM = T8JV-VNAME 0..N

0..N

T8PSA_CAL_CT

MANDT [CLNT (3)]

PSC_CALC_TYPE [NUMC (3)]

 T8PSA_COST_ADJ-RPSC_CALC_TYPE = T8PSA_CAL_CT-PSC_CALC_TYPE 

0..N

0..N

 T8PSA_COST_ADJ-SPSC_CALC_TYPE = T8PSA_CAL_CT-PSC_CALC_TYPE 

0..N
0..N

T8PSA_PRODUCT

MANDT [CLNT (3)]

PSC_PRODUCT [CHAR (10)]

 T8PSA_COST_ADJ-RPSC_PRODUCT = T8PSA_PRODUCT-PSC_PRODUCT 

0..N

0..N

 T8PSA_COST_ADJ-SPSC_PRODUCT = T8PSA_PRODUCT-PSC_PRODUCT 

0..N

0..N

T8PSA_PSC

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

PSC_NAME [CHAR (10)]

 T8PSA_COST_ADJ-RPSC_NAME = T8PSA_PSC-PSC_NAME 

0..N

0..N

 T8PSA_COST_ADJ-SPSC_NAME = T8PSA_PSC-PSC_NAME 

0..N

0..N


